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m-n 1| 10 marks cdeld | 1
gVen table shows the positions of T Jf O el ] e o Al e
a catin different times, S
:::::: POSition versus time graph of | S~ oadt Al é’&hﬂ . ::':;I
h!lowl:gTOthn considering the u‘*“”::‘ A L-,\;: {:ﬁ; 12L
1. Write the graph title Ny ) caagnl BB 00
:;:':::I' :)::h the horizontal and L b o 45;‘:’&-5
3. Draw the best-fit straight line or
the curve for the motion
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Question 2 | 10 marks

8. Match the graph with the correct
mathematical relationship below:
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An object moves 6 marks | e 6 3. | M_—u\

with
velocity (vi) and Ay an initial £)ludy (Vi ) ASlsy! As H'ﬂ-l'ﬂf

sta
(3) in the period (1), th:: ;:“;:;““““ aie pu OB o(t) Aazhl BARN S (a) =B

velocity (v) is Biven by the expression:

V,
= VitaAt v vitalbt l

Aslaalls Jasd ( vr) g

a. Rewrite the equati
velocity, and ﬂm&lem?gt: find the time t in terms of initial velocity, final

g;l.-.m 9 A3Lgl de llg S Ao all AV t a3l o) Wslaall 25 a5l 2

b. Find the initial velocity v of the object if a = -2m/s?, v=25 m/s,and t=3s.
.a=-2m/s?, v=25m/fs,t=3s S5 131 vy aslaal sl s>l b
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In a
relationship between the elongation | ¢
of a spring and the attached mass, |

what is the independent variable all‘;!'i | ~.

the dependent variable? i
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Dependent Variable: ..,. <
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(km) gapt
Position (km)
onaooan.:s.

- How long had runner B aiready been running when runner A started 1
run?

Soal A sl L 3 J) ol 3 B sl it il o0 52
[ T

. How long had runner B been running when he was 10 km away from
hhmpoht?
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End of Questions




